bon phan s6, s& thap phan, tht ty cac phép toan

Tén: Ngay thang: Diém:
1 3 1
——54+2%x == ——15x38+3+4x43=
3 2 2
3 1 1
——24—-4%x == 59-8x33+2-3x ==
5 5 3
1 3 1
21-43+3x == 554+ =%x2+ —=
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1 3 2
——28x5+6x44+2= -+ -=x5+51=
2 5 3
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bon phan s6, s& thap phan, tht ty cac phép toan

Ngay thang: _ Diém:_
5—5.4+2>< %=(—%)=(—2%) %—15 ><3.8+3-|-4><4.3=(—%)=(—11—30)
5—2.4—4>< %=(—15—3)=(—2§) 590-8x33+2-3X %=(—%)=(—8%)
2.1—4.3+3X%=(—%) 5.5+%><2+;1=24—9=7;1

%—2.8><5+6><4.4+2=(—%) %+§X5+5.1=%=9%
2.8+é><2+6><%+ =%=4% 5.3+5.3><2—20><§+ =%=13%
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